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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. a)  

 

 b) ∠ DEC = 45 ° 

Ans:  (a)  as shown 
 (b)  45 ° 

 

 
7.     

       

Ans:  As shown . 
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8. Distance travelled = 
3
4
  X 64 = 48 km 

 Expedited time = 45 min – 15 min = 30 min = 0.5 h 

 New speed = 48 ÷  0.5 = 96 km / hr 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  96 km / hr 

 

 

9. Volume of water at first = 112 x 80 x 14 = 125 440 cm3  = 125.44 litres 

 Volume of water at last = 125.44 – 28.8 = 96.64 litres 

 
2
5
  of water  96.64 litres 

 
1
5
  of water  96.64 ÷ 2 = 48.32 litres 

 
5
5
  of water  48.32 x 5 = 241.6 litres 

   

 

 

 

 

 

 

Ans:   241.6 litres 
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10. a) 

  Amount left on Tuesday = 18 x  
2
3
  = $12   

 b) 

Amount left on Wednesday = 
3
4
  x 12 = $9 

 Fraction spent on Thursday = 2 ÷ 9 = 
2
9
  

 
Ans:  (a)  $12   

 (b)  
2
9
  

 

 
11. Ratio of value of 20-cent coins to 50-cent coins  3 x 0.2 : 4 x 0.5  0.6 : 2   

 3u : 10u  

 3u + 10u = 52 

 13u = 52 

 u = 52 ÷ 13 = 4 

 Value of 20-cents coins = 3 x 4 = $12 

 

` 

 

Ans:  $12 
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12.  Let Carl’s amount = 100u 

 Bob’s amount = 0.8 x 100u = 80u 

 Ali’s amount = 0.4 x (100u + 80u) = 72u 

 Difference between Bob and Ali’s amount = 80u – 72u = 8u = $96 

 u = 96 ÷ 8 = 12 

 Total amount of money = 100u + 80u + 72u = 252u = 252 x 12 = $3024 

 

 

 

 

 

 

Ans:   $3024 
 

 

13. Area of PBQ = 
1
4
  x 28 x 21 = 147 cm2 

 CR = 
3
7
  x 21 = 9 cm    (3/4 + 4/4 = 7/4) 

 Area CRS = 9 x 28 x 
1
2
  = 126 cm2 

 AS = 
3

10
  x QS 

Area of PAS =  
3
10

  x 28 x 21 x 
1
2
  = 88.2 cm2 

Shaded area = 28 x 21 – 147 – 126 – 88.2 = 226.8 cm2 
   
 Rectangular area = 28 x 21 = 588  

Fraction of shaded area = 226.8 ÷ 588 = 
27
70

  

 

Ans:   
27
70
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14. a) 

∠TOP = (180 – 11 - 11)  = 158° 

 ∠TOR = 158° – 60 = 98° 

 b) 

∠ORT = (180 – 98) ÷ 2 = 41° 

 ∠PRT = 60 + 41 = 101° 

 

 

 

         Ans:  (a)  98° 

          (b)  101° 
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15. a) 

 Total difference between boys marks and average marks = (82-79) x 20= 60 

 Difference between girls average and class average = 86 – 82 = 4 

 Number of girls = 60 ÷ 4 = 15 

 Total increase in average = 0.5 x (20 + 15) = 17.5 

 Nicole’s marks = 82.5 + 17.5 = 100 

 b) 

 Total marks scored by girls = 86 x 15 + 100 =1390 

 Average marks of girls = 1390 ÷ 16 = 86.875 ≈ 86.9 

   

 

 

 

 

         Ans:  (a)  100 

          (b)   86.9  

      
 
 
 

 

16. Number of members in Group B = (138 – 12) ÷ 2 = 63 

 Number of Group A members = 63 + 12 = 75 

 Ratio of boys in Group B to those in Group A = 3 : 4  54  :72    

 Ratio of girls in Group B to those in Group A = 3 : 1  9 : 3 

 Ratio of members in Group B to those in Group A = 63 : 75   (sum of ratios) 

  

 Number of boys in Group A = 72  

 

 

         Ans:   72 
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17. Area of big quadrant = 
22
7

 x 14 x 14 x 
1
4
  = 154 cm2 

 Area of small quadrant = 
22
7

 x 7 x 7 x 
1
4
  = 38.5 cm2 

Shaded area X minus shaded area Y = area of big quadrant – area of small 

quadrant – (rectangular area – area Y)  - area Y 

= 154 – 38.5 – 14 x 7 = 17.5 cm2   

 

 

Ans:  17.5 cm2   

 

 
 


